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Run ID Time User name Problem Language Result Tests Score
20 0:12:54 inf24f_ 296 1 g++ 0K 28 100

83 0:36:30 inf24f_296 2 g++ Partial solution 27 96

552 3:33:14 inf24f 296 3 python3 0K 28 100

552 3:33:14 inf24f_ 296 3 python3 0K 28 100

653 3:54:51 inf24f 296 5 g++ Partial solution 3 5

505 3:19:40 inf24f_ 296 6 python3 Partial solution 10 90
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ITocelika mo 3agade 1

[1] #include <iostream>
[2] #include <vector>

[3]

[4] using namespace std;

[5]

[6] vector<int> t;

[71

[8] int tetracount(int x)

(o1 {

[18] int ans =@;

[11] for(int i=t.size()-1;i>-1;i--)
[12]

[13] if(x==0)

[14] return ans;

[15] if(t[1i] <= x)

[16] {

[17] //cout<<t[i]<<endl;
[18] ans ++;

[19] x-= t[i];

[20] 1

[21] 1

[22] return ans;

[23]}

[24]

[25] int main()

[26]1

[27] const int max_num = 33554432;
[28] t.resize(4);

[29] t[e] = e;

[3e] t[1] = 8;

[31] t[2] = @;

[32] t[3] = 1;

[33]

[34] int x = 8;

[35] while(x < max_num)

[36] {

[37] int n = t.size();

[38] x = t[n-1] + t[n-2] + t[n-3] + t[n-4];
[39] t.push_back(x);

[4e] 1

[41]

[42] J/for(int i=0;i<t.size();i++)
[43] 1 cout<<t[i]<<"

[44] //cout<<endl;

[45]

[46] int n;

[47] cin>>»n;

[48] int ans =8;

[49] for(int i=0;i<n;i++)

[se] {

[51] int aj;

[52] cin>»a;

[53] if(tetracount(a) % 2 ==0)
[54] ans ++;

[55] 1

[56] cout<<ans;

[57]

[58] return @;

(597}



ITocblika 1o 3amade 2
[1] #include <iostream>
[2] #include <vector>

[3] #include <string>

[4]
[5]

[6] using namespace std;

[7]

[8] struct bin_add

(91 {
[16]
[11]
[12]
[13]
[14]
[15]
[16]
[17]
[18]
[19]
[20]
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[3e]
[31]
[32]
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[40]
[41]
[42]
[43]
[44]
[45]
[46]
[47]
[48]
[49]
[58]
[51]
[52]
[53]
[54]
[5513};

vector<bool> x;
double value=8;

void add(int pos,double val)

{

}

[ /cout<<pos<<"' '<<val<<endl;
value += val;
if(pos+1l > x.size())

{
int oldsize = x.size();
x.resize(pos+1);
for(int i=oldsize;i<x.size();i++)

x[i] = false;

¥

while(x[pos])

{
x[pos] = false;
poes--;

3

x[pos] = true;

string print()

{

if(x[e])
return "1.8";

string ans = "8.";

int border = x.size();

for(int i=x.size()-1;i>-1;i--)

if(x[i])
i

border = i+1;
break;

for(int i=1;i<border;i++)

if(x[i])
ans+="1";
else
ans+="0";
3

return ans;



[56]

[57] vector<bin_add> k;

[58]

[59] string conv = "BCDGORVWY";

[6e]

[61] int read(string& input,int x,int depth,double wval)
[62] {

[63] if(input[x] !='Q")

[64] {

[65] for(int i=0;i<conv.size();i++)
[66] if(conv[i] == input[x])
[67] k[i].add(depth,val);
[68] return x+1;

[69] }

[7e]

[71] X++;

[72] for(int i=0;i<8;i++)

[73] x = read(input,x,depth+3,val/8);
[74] return x;

[751%

[7e]

[77]

[78] int main()

(7914

[88] k.resize(9);

[81]

[82] string x;

[83] cin>>»x;

[84] read(x,0,8,1);

[85]

[86] int max_pos = 8;

[871] for(int i=0;i<k.size();i++)

[88] {

[89] if(k[i].value > k[max_pos].value)
[a0] max_pos = 1;

[91] 3

[92]

[93] cout<<conv[max_pos]<<'\n";

[94] cout<<k[max_pos].print();

[95] return 8;

[96]}



ITochbuika mo 3amade 3

[1] from random import randint
[2] def parse_elf(x):

[31 # print("PARSING",x)
[4] if x=="[]":

[5] return @

[6]

[71 n = len(x)

[8] ans = @

[9] mul = 1

[18] pos = @

[11]

[12] while pos < n:

[13] digit = @

[14] if x[pos]

[15] digit

[16] if x[pos]

[17] digit

[18] if x[pos]

[19] digit

[208] if x[pos]

[21] digit

[22]

[23]

[24] stv = ('

[25] if x[pos] == 'J' or x[pos] == "J':
[26] stv =")"'

[27]

[28]

[29] if pos+l < n:

[30] if x[pos+l] == stw:
[31] digit += 1
[32] pos += 1
[33] if pos+l < n:

[34] if x[pos+l] == stw:
[35] digit += 1
[36] pos += 1
[37]

[38] pos += 1

[39] # print("DIGIT: ",digit,ans,mul)
[408] ans += digit * mul
[41] mul = mul * 12
[42] # print(x,ans)

[43] return ans

[44]

[45]

(48] digits = ['@',"'1i","1(", "2((", "T","I(","I({","3","3)","3)) ", '3, " 9) ", "9 "]
[47]
[48] def to_elf(a):

[49] ans = "'

[5@] mul = 1

[51] while a > @:

[52] digit = a % 12
[53] if digit == @:
[54] digit = 12
[55] a -= 12

[56] ans = ans + digits[digit]
[57] a=alj// 12

[58] # mul = mul * 12
[59] return ans

[60]

[61]1n = @

[62] n = int(input())

[63]

[64] values = [B] * n

[65]sl = [@] * n

[66]

[67] for i in range(n):

[68] s1[i] = input()

[69] values[i] = parse_elf(s1[i])
[7e]

[71] max_pos = @

[72] min_pos = 1

[73]

[74] for i in range(n):

[75] if(values[max_pos] <= values[i]):
[76] max_pos = i

[77] for i in range(n):

[78] if(values[min_pos] »>= values[i] and i!=max_pos):
[79] min_pos = i

[86]

[81] if max_pos < min_pos:

[82] max_pos,min_pos = min_pos,max_pos
[83]

[84]

[85]

[86] print(to_elf(min_pos+1))
[87] print(to_elf(max pos+1))
[88]



ITochbuika o 3amade 4

[1] #include <iostream>
[2] #include <vector>

[3]

[4] wusing namespace std;

[5]

[6] const int UND = -5;

[7]

[8] pair<int,int> determine(pair<int,int> current,pair<int,int> new_p,int pos,int add)
[¢e]1

[18] if(new_p.first == UND)

[11] return current;

[12] if(current.first == UND)

[13] return {new_p.first+add,pos};
[14] if(current.first < new_p.first+add)
[15] return {new_p.first+add,pos};
[16] return current;

[17]1 }

[18]

[19] vector<vector<int> > field;
[28] int r,c;

[21]

[22] int sum(int h,int a,int b,int c)
[23] {

[24] int ans = field[a][h];
[25] if(b!=a)

[26] ans += field[b][h];
[27] if(cl=a && c!=b)

[28] ans += field[c][h];
[29] return ans;

[ze] }

[31]

[32] bool valid(int a,int b,int c)
[33] {

[34] return (a > -1) && (b > -1) && (c > -1) && (a <r) && (b <r) && (c <r);
[35] }

[3e]

[37] int main()

[38] {

[39]

[40] cin>>r>>c;

[41] int pl,p2,p3;

[42] cin>>pl>>p2>»p3;

[43]

[44] vector<int> starts = {pl,p2,p3};
[45]

[46]

[47] field.resize(r);

[48] for(int 1=@;i<r;i++)

[49] field[i].resize(c);
[5e]

[51] for(int 1 =@;i<r;i++)
[52] for(int j =0;j<c;j++)
[53] cin>>field[i][]];
[54]

[55]

[56]



[51] for(int i =0;i<r;i++)

[52] for(int j =0;j<c;j++)

[53] cin>>field[i][j];

[54]

[55]

[56]

[57] vector<vector<vector<vector<int> > > > dyn;

[58] dyn.resize(c);

[59] for(int i=0;i<c;i++)

[60] dyn[i].resize(r);

[61] for(int i=6;i<c;i++)

[62] for(int j=8;j<r;j++)

[63] dyn[i][j].resize(r);

[64] for(int i=6;i<c;i++)

[65] for(int j=8;j<r;j++)

[e6] for(int k=0;k<r;k++)

[67] dyn[i1[31[k].resize(r);

[e8] for(int i=0;i<c;i++)

[69] for(int j=8;j<r;j++)

[7@] for(int k=@;k<r;k++)

[71] for(int 1=8;1<r;l++)

[72] dyn[1][F][k][1] = UND;

[73]

[74]

[75] dyn[@][p1][p2][p3] = sum(@,pl,p2,p3);

[76]

[77] for(int i =@;i<c-1;i++)

[78] {

[791 for(int j=0;3<r;j++)

[82] for(int k=@;k<r;k++)

[81] for(int 1=8;1<r;ls++)

[82] if(dyn[11[3]1[k][1] != UND)

[83] for(int addl=-1;add1<2;addl++)
[84] for(int add2=-1;add2<2;add2++)
[85] for(int add3=-1;add3<2;add3++)
[86] if(valid(j+addl,k+add2,1+add3))
[87] dyn[i+1][j+add1][k+add2][1+add3] = max(dyn[i+1][3+add1][k+add2][1+add3],dyn[i]1[1[k][1] + sum(i+1,5+addl,k+add2,1+add3));
[88] }

[89]

[9e]

[o11 [/for(int 1=@;i<c;i++)

[92] int summ = @;

[93] for(int j=0;j<r;j++)

[94] for(int k=8;k<r;k++)

[95] for(int 1=0;1<r;1++)

[96] summ = max(summ,dyn[c-1][FI[kI[1]);
[97] /cout<<ig<’, "<<i<< ", 1 <<ke< ', '<<1<<": "<<dyn[11[§1[Kk][11<<"\n';
[e8]

[e9]

[100] cout<<summ<< \n";

[101]

[1@2] return @;

[183] }



ITocblika 1o 3amade 5
[1] #include <iostream>
[2] #include <set>

[3] #include <vector>

[4] #include <map>

(5]

[6] using namespace std;

[71

[8]

(el

[18] int main()

(1174

[12] string have;

[13] string required;

[14] cin>>have;

[15] cin>»required;

[16]

[17] map<int,int> task;

[18] /fcout<<(task.find(0) == task.end());
[19]

[20] for(int i=0;i<required.size();i++)
[21] task[int{required[1])]++;
[22]

[23]

[24]

[25] vector<int> dyn;

[26] dyn.resize(have.size());

[27]

[28] int reqs = required.size();
[29] for(int i =8;i<have.size();i++)
[30]  {

[31] if(task.find(int(have[i])) != task.end())
[32] {

[33] task[int(have[i])] --;
[34] if(task[int(have[i])] == @)
[35] reqs --;

[36] }

[37] if(reqs == 0)

[38] {

[39] dyn[@] = i+1;

[48] break;

[41] L

[42] 3

[43]

[44] if(reqs != @)

[45]

[46] cout<<"";

[47] return @;

[48] 3

[49]



[5e]
[51]
[52]
[53]
[54]
[55]
[56]
[57]
[58]
[59]
[68]
[61]
[62]
[63]
[64]
[65]
[66]
[67]
[68]
[69]
[70]
[71]
[72]
[73]
[74]
[75]
[7e]
[77]
[78]
[79]
[88]
[81]
[82]
[83]
[84]
[85]
[86]
[87]
[88]
[89]
[98]
[91]
[92]
[93]
[94]
[95]
[96]
[97]
[98]
(991}

for(int i=1;i<have.size();i++)
dyn[i] = -1;

for(int i = @;i<have.size()-1;i++)

{
//cout<<"POSITION: "<<i<<end]l;
if(task.find(int(have[i])) != task.end())
{
//cout<<"NEEDED:"<<have[i]<<"' '<<task[int(have[i])]<<endl;
task[int(have[i])] ++;
if(task[int(have[i])] » @)
{
//cout<<"0UT OF:"<<have[i]<<end];
dyn[i+1] = -1;
for(int j =i+dyn[i-1] - 1;j<have.size();j++)
{
if(task.find(int(have[]j])) != task.end())
task[int(have[j])] --;
if(int(have[j]) ==int(have[i]))
{
//cout<<"FOUND: "<<j<<endl;
dyn[i+1] = j - i;
break;
}
if(dyn[i+1] ==-1)
{
dyn[i+1] = -1;
break;
I
telse
dyn[i+1] = dyn[i] - 1;
Jelse
dyn[i+1] = dyn[i] - 1;
¥

int min_len = @;
for(int i=0@;i<have.size();i++)
if(dyn[i] < dyn[min_len] && dyn[i] != -1)

min_len = 1;

for(int i=min_len;i<min_len+dyn[min_len];i++)
cout<<have[i];

return 8;



ITocelika mo 3aga4de 6
[1] f = open("input.txt",'r"')

[2]

[3] tests = f.read().split('\n")

[4]

[5] f.close()

(6]

[7] for i in range(len(tests)):

[8] tests[i] = tests[i].split(';")

(9]

[12] for i in range(len(tests)):

[11] for j in range(1,len(tests[i])):

[12] tests[i][5] = (tests[i][§] == 'OK")
[13]

[14] tasks = dict()

[15]

[16] for i in range(len(tests)):

[17] if tests[i][@] in tasks:

[18] tasks[tests[i][@]].append(tests[i][1:])
[19] else:

[20] tasks[tests[i][@]] = [(tests[i][1:])]
[21]

[22] for k in tasks.keys():

[23] max_len = @

[24] for i in range(len(tasks[k])):

[25] max_len = max(max_len,len(tasks[k][1i]))
[26] for i in range(len(tasks[k])):

[27] while(len(tasks[k][i])!=max_len):
[28] tasks[k][1].append(False)

[29]

[3@] # print(tasks)

[31]

[32] for k in tasks.keys():
[33] gh = set()
[34] for t in range(len(tasks[k][@])):

[35] test_id = @

[36] for i in range(len(tasks[k])):
[37] if tasks[k][i][t]:

[38] test_id = test_id * 2 + 1
[39] else:

[48] test_id = test_id * 2
[41] # print(test_id)

[42] gh.add(test_id)

[43] # ans_k[k] = len(gh)
[aa]  if(k!='"):
[45] print(len(tasks[k][@]),len(gh))

10



